
Symbol No. ....................... RE-109'AC'
SEE 2074 (2018)

clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft
gof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmd

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 3G6f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













RE-109 'AC' 

dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

k"0ff{ª\sM– !)) 
ljifoM clgjfo{ ul0ft 

pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . 
k/LIfsn] pTt/sf] z'b\wtf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ 
cg';f/ ;xL, :ki6, pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] 
lgb]{z u/]sf] kl/lw / ;Ldfleq /xL d"Nofª\sg ug'{kg]{ 5 .  

Note: Give the relevant mark(s) for other correct  method. 
k|Zg g+= pQ/ c+s 

 ;d"x æsÆ  
! s I. VAT% =  1 

! v I. T.S.A. of Sq. pyramid = (k2 + 2kl) sq. c.m.  1 

@ s I. Order of  1 

@ v I. C.f denotes the cumulative frequency of preceeding class interval.  1 

# s I. Rect. PQRS = �PQTU  1 

# v I. SRT = SPQ = 97O.  1 

;d"x ævÆ 
$ s I. $ 3500 = NRs. 105x3500 = 367500  

II. With 2% comm. = Rs. 3,74,850  

1 

1 

$ v I.  

II. yrs  

1 

1 

% s I. r2h = 498.96 litres   

22
7   × r2×90 cm = 498960 cm3 

II. r = 42 cm   

1 

 

1 

% v I. 3r2 = 7392 cm2 

II. r = 28 cm   

1 

1 
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% u I.  cm3 

 cm3 

II. r = 9 cm 

1 

 

1 

^ s I. 1st Expn =  x2 + x + 1  

2nd expn = x4 (x3 – 1) = x4 (x-1) (x2 + x +1)  

II. H.C.F. = x2 + x + 1  

 

1 

1 

^ v 
I. 4 × 43 3  – 4 × 53 3  + 2 × 23 3  

II. 0 

1 

1 

& s I. xbya = 100 

10ab.10ab = 102 

II. ab  = 1  

1 

 

1 

& v I.  

 

II. 0 

1 

 

1 

& u I.  

II.  

1 

 

1 

* s I. Area of    AEB = ½ x 52 cm2 = 26 cm2 

and area of BEC = ½ x 26 cm2 =13 cm2 

II. Area of the parallelogram ABCE = (26+13) cm2 = 39 cm2   

 

1 

1 

* v I. KLM = 40O  & LKO =40O  

II. KOM = 80O
  

1 

1 

* u III. CMN = 90O   1 
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IV. CLN = 145O
  1 

( s I. A = 180O
 – 103O – 32O = 45O 

Area of ABC = ½  

 

II. =18  

 

 

1 

1 

( v I. Md = 10+  

     = 10+  

II.       = 11.5  

1 

1 

!) s I. P(Ace ) =    

II. P (Ace or king) =  

1 

1 

!) v I. Representing the outcomes in probability tree diagram along their 

probabilities 

  

1 

1 

;d"x …uÚ 
!! I.    n() = 30000,  no(M) = 15000, no(N) = 12000, 

  n(MN) = 2000 

 II.  = 15000+12000+2000 + x =30000 

                   x= 1000 

 

1+1 

 

1 

P(R)=5/8 

P(W)=3/8 

P(R)=4/7 

P(W)=3/7 

P(R)=5/7 

P(W)=2/7 

15000 

2000 

12000 

n(U)=30000    M  N 

x 
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  = 15000 + 12000 = 27000                                                                       1 

!@ 
 

I. Let M.P. of cycle be Rs. x   
SP after discount = (100 - D)%  xM.P.                          .                          
  = (100-10)% x x         =0.9x 

II. SP including VAT = (100+V)% x SP after discount  
                  = (100+13)% x 0.9x  
                   = 1.017x   

III. By the question,  
SP including VAT – SP after discount = 585  
 1.017x – 0.9x = 585 

IV. MP of cycle  (x) = Rs. 5000  

 
 

1 
 

1 
 

1 
 
 

1 
 

!# 
 

I. Let sides of triangular field  = 2x, 3 x and 4 x  
      P = 2x +3x + 4x  
Or, 900m = 9x  
        x = 100m   

II. Sides of triangular field:  

a = 2x = 200m,  b = 3x = 300m,  c = 4x = 400m    

III.   

IV.  =  

=29047.38 m2 

 

1 

 

1 

 

1 

1 

!$ 
 

I. 1st exp =  a4 + a3 –a2 - a 
 = a(a+1) (a2-1) 
 = a(a+1) (a+1) (a -1) 

II. 2nd exp = a4 –a  
 = a(a3 – 1)  
 = a(a - 1) (a2 + a + 1)   

III. Third exp = 5a2 – 5  
   = 5(a2 – 1)  
   = 5(a+1) (a – 1)  

IV. L.C. M= 5a (a+ 1)2 (a – 1) (a2 + a +1) 
 

 
1 
 
 

1 
 
 

1 
 
 

1 

!% 
 

I. Let digit of one's place = x  
digit of 10's place = y  
required number = 10 y + x   
In first condition     x + y = 5  

II. In second condition 10y + x – 27 = 10x + y  or y – x = 3 
III. By solving equation, x = 1,   y = 4  
IV. required number = 10y + x = 41  

 
 

1 
 

1 
1 
1 
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!^ 
 

I. correct figure + given 
II. To prove : Area (�ABCD) = Area (�ABEF)  

Construction: Draw BGAB 
III. Ar. (�ABCD)= AB x BG  Area of Parallelogram = b x h …. (i) 

Ar.(�ABEF) = AB x BG  Area of Parallelogram = b x h ….. (ii) 
IV. Area (�ABCD) = Area (�ABEF)  from (i) and (ii) 

Note: Give marks for alternative method also  

1 
 

1 
 

1 
 

1 
!& 
 

I. Construction of rectangle ABCD 
II. Construction of angle of triangleEBF 
III. Construction of triangle 
IV. Justify. 

1 
1 
1 
1 

!* 
 

I. Correct figure and to verify 
II. Verification table with correct measurement 
III. Conclusion 

1 
1+1 

1 

!( 
 

I. Correct figure and description  

II. In the right angled  AOB                                                     

 tan=  

III. Or tan = 1 = tan 45O 

IV.  = 45O  

1 

 

1 

 

1 

 

1 

@) Marks (x) No. of Students (f) c.f 
   

0-10 
10-20 
20-30 
30-40 
40-50 

3 
7 

15 
m 
5 

3 
10 
25 

25+m 
30+m 

I. For the correct  c.f. table. 
II. Q3 = 35. So , Q3 class = 30 - 40 

III. 35 –30 =  

IV. 4m = (3m – 10)     
m = 10 

 

 

 

1 

1 

1 

1 

;d"x …3Ú 
@! I.  

= 30000  

II. = Rs. 6465.18 

 

 

1 

1 
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III. Y.C.I =  

= 30000  

IV. = Rs. 7632 

V. Finding difference with logical reason and deoposited in account B. 

 

1 

1 

1 

@@ I. Radious of tank (r) = 7 m 

II. Height of cylindrical part (h) = 13 m 

III. Volume of tank = Axh +  

= 154 x 13+  

= 2720.67 m3 

IV. Volume of water (V) = 2720670 L   

V. Total cost (T) = Rs. 1224301.50  

1 

1 

 

 

1 

1 

1 

@# 
I.  

II.  

III.  

IV.  

V.  

1 

 

1 

 

1 

 

 

1 

1 

@$ I. Correct fig. with construction(join P and B) 

II. APS = ½ QPS  and   BRS = ½ QRS 

III. APS + BRS = 90O 

IV. BPS = BRS  

V. APB = 90O. So, AB is the diameter. 

1 

1 

1 

1 

1 

 



Symbol No. ....................... RE-109'BC'
SEE 2074 (2018)

clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft
gof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmdgof“ kf7oqmd

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 3G6f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













RE-109 'BC' 

dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

k"0ff{ª\sM– !)) 
ljifoM clgjfo{ ul0ft 

pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . 
k/LIfsn] pTt/sf] z'b\wtf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ 
cg';f/ ;xL, :ki6, pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] 
lgb]{z u/]sf] kl/lw / ;Ldfleq /xL d"Nofª\sg ug'{kg]{ 5 .  

Note: Give the relevant mark(s) for other correct  method. 
k|Zg g+= pQ/ c+s 

 ;d"x æsÆ  
! s I. SP with VAT =   1 

! v I. T.S.A. of Sq. pyramid = (2xy +x2)  Sq.cm 1 

@ s I. Order of  1 

@ v I. h  denotes class interval. 1 

# s I. ABE=  ½ �ABCD  1 

# v I. PQR = PSR.  1 

;d"x ævÆ 
$ s I. $ 550   

II. NRS. 51860  

1 

1 

$ v I.  

II.   

1 

1 

% s I. 539 Litres =r2h     

 

II. r = 35 cm   

1 

 

1 

% v I. 4r2 = 30184 cm2 

II. r = 35 cm   

1 

1 



RE-109 'BC' 

% u I.  cm3 

 cm3 

II. r = 8 cm 

1 

 

1 

^ s I. 1st Expn =  x (x3 – 1)  

 = x(x-1)  (x2 +x+1) 

2nd Expn = (x2 + x +1)  

II. H.C.F. = x2 + x + 1  

1 

 

 

1 

^ v I.  

II.  

1 

1 

& s I. pnqm = 100 

10mn.10mn = 102 

II. mn  = 1  

 

1 

1 

& v I.  

 

II. 0 

 

1 

1 

& u I.  

II.  

1 

 

1 

* s I. Area of rhombus PQRS = ½ x10 x 8 cm2  

   = 40 cm2 

II. area of the QRT = ½ x 40 cm2  

  = 20 cm2   

 

1 

1 

* v I. RQT = 90O - 65O  = 25O 
II. QPT = QRT =  65O

  
1 
1 

* u III. PGD = 90O   
IV. DPG = 45O

  
1 
1 
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( s I. Area of XYZ =   ½ x 12 x 15 x sin 30O 

                         = 45 cm2 

II. Area of WXY =  2 area of XYZ 

                         =90  

 

          1 

 

1 

( v I.  

or,  5 =  

II.  P = 50  

 

1 

1 

!) s I. P(5) =    

II. P (5 or 7) =  

1 

1 

!) v I. First draw with probabilities  

II. Second draw with probabilities 

  

1 

1 

;d"x …uÚ 
!! I. For correct Venn diagram 

     n() = 25000,  no (A) = 12000, no (B) = 10000, n(AB) = 1000 

II. n() = nO (A)+ nO (B)+n(AB) +   x 

              = 12000+10000+1000 + x                                 12000  1000  10000 

    x =25000 – 23000 = 2000 

1 

1 

1 

 

1 

 

 

 

 

 

 

 

 

 

n(U)=25000 

A    B 

  x 
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III.   = 12000 + 10000 = 22000          

N.B.: Give relevant marks for any other correct method. 

 

1 

!@ 

 

I. Let M.P. of Radio be Rs. x   

SP after discount = (100 - D)% x MP  

                            = 0.9x 

II. SP including VAT = (100+V)% x SP after discount  

      = (100+13)% x 0.9x  

      = 1.017x   

III. By the question,  

SP including VAT –  SP after discount = 1170  

  1.017x – 0.9x = 1170 

IV. MP of Radio(x) = Rs. 10000  

 

 

1 

 

1 

 

 

1 
 

 

 

 

1 

!# 
 

I. Let sides of triangular field  = 6x, 9x and 10x  
  P = 6x +9x + 10x  
  Or, 2500m = 25x  
                      x = 100m   

II. Sides of triangular field:  

a = 6x = 600m,  b = 9x = 900m,  c = 10x = 1000m    

III.   

IV.   

      =  

      =266634.11 m2 

 

           1 

 

1 

 

1 

1 

!$ 

 

I. 1st exp =  x4 + x3 –x2 - x 

 = x(x+1) (x2-1) 

 = x(x+1) (x+1) (x -1) 

II. 2nd exp = x4 –x  

 = x(x3 – 1)  

 = x(x - 1) (x2 + x + 1)   

III. Third exp = 4x2 – 4 

 = 4(x2 – 1)  

 = 4(x+1) (x – 1)  

 

1 

 

1 

 

 

1 
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IV. L.C. F = H.C.F x remaining factors  

= 4x (x+ 1)2 (x – 1) (x2 + x +1) 

1 

!% 
 

I. Let digit of one's place = x  
digit of ten's place = y  
required number = 10y + x   
In first condition x + y = 10  

II. In second condition 10y + x – 72 = 10x + y  or  y – x = 8 
III. By solving equation, x = 1,   y = 9  
IV. required number = 10y + x = 91  

 
 
 

1 
1 
1 
1 

!^ 
 

I. correct figure + given 
To prove : Ar of RXY =  (�PXYZ)  

Construction: Draw PMXY 
II. Ar.( RXY) =  XY x PM  Area of triangle =  b x h ….. (i) 

III. Ar. (�PXYZ)= XY x PM  Area of Parallelogram = b x h …. (ii) 
IV. Ar ( RXY)= Ar (�PXYZ) from (i) and ii) 

Note: Give marks for alternative method also  

1 
 
 

1 
 

1 
1 

!& 

 

I. Construction of rectangle                                A            E      D 

II. Construction of angle of triangle             6.1cm        600 

III. Construction of triangle                                     P  7.1 cm    C    7.1cm  F 

IV. Conclusion 

1 

1 

1 

1 

!* 
 

I. Correct figure  
II. Verification table 
III. Conclusion 

1 
1+1 

1 

!( 
 

I. Correct figure and description  

II. In AOB                                                     

 tan=   

III. Or tan = 1 = tan 45O 

IV.  = 45O  

1 

 

1 

 

1 

 

1 

@) Marks (x) No. of Students (f) c.f 
0-100 

100-200 
12 
18 

12 
30 

 

 

R 

M Y X 

Z P 

62 

60° 
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200-300 
300-400 
400-500 
500-600 

27 
p 

17 
6 

57 
57+p 
74+p 
80+p 

I.  Correct c.f table 

II. Q3 = 390; Q3 class = 300 - 400 

III. 390-300  =  

IV. 18p = (3p + 12) x5  
3p = 60  
p = 20 

 

1 

1 

1 

 

1 

;d"x …3Ú 
@! I.  

  = 50000  

II.   = Rs. 10775.30 

III. Y.C.I   =  

  = 50000  

IV.   = Rs. 12720 

V. Finding difference with logical reason. 

 

 

1 

1 

 

 

1 

1 

1 

@@ I. Radius of tank (r) = 14 m 

II. Height of cylindrical part (h) = 10 m 

III. Volume of tank = Axh +  

  = 616 x 10+  

  = 11909.333 m3 

IV. Volume of water (V) = 11909333L   

V. Total cost (T) = Rs. 77,41,066.67  

1 

1 

 

 

1 

1 

1 
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@# 
I.  

II.  

 

III.  

IV.  

V.  

1 

 

 

 

1 

 

1 

 

 

1 

          1 

@$ I. Correct fig. with construction 

II. AWZ= ½ XWZ     and      BYZ= ½ XYZ 

III. AYZ + AWZ = 90O 

IV. AYZ = AWZ  

V. AYB = 90O & AB in the diameter. 

1 

1 

1 

1 

1 

 



Symbol No. ....................... RE-109'CC'SEE 2074 (2018)
clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

gof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmd

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 3G6f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













RE-109 'CC' 

dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

ljifoM clgjfo{ ul0ft 

k"0ff{ª\sM– !)) 
pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . 
k/LIfsn] pTt/sf] z'b\wtf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ 
cg';f/ ;xL, :ki6, pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] 
lgb]{z u/]sf] kl/lw / ;Ldfleq /xL d"Nofª\sg ug'{kg]{ 5 .  

Note: Give the relevant mark(s) for other correct method. 
k|= g+= pQ/ c+s 

 ;d"x æsÆ  

! s I.   1 

! v I. T.S.A. of Sq. pyramid = (p2 +2pq)  sq.cm  1 

@ s I. Order of  is  x 1 

@ v I.   
1 

# s I. BMC=  ½ ABC  1 

# v I. Arc AB = arc MN 1 

;d"x ævÆ 

$ s I. 176 x 1 x x= 132 x119 x 100 

II. x = Rs. 8925  

1 

1 

$ v I.  

II.   

1 

1 

% s I. 172.48 Litres =r2h  

II.     
  r = 28 cm   

 

1 

1 

% v I. 4r2 = 22176 cm2 

II. r = 42 cm   

1 

1 

% u I.  cm3 

 cm3 

 

1 

1 
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II. r = 3 cm 

^ s I. 1st Expn =  p2 (p3 + 1)  

= p2 (p+1)  (p2 – p +1) 

2nd Expn = p2 - p +1 

II. H.C.F. = p2 - p + 1  

 

1 

 

1 

^ v I.  

 
II.  

 

1 

1 

& s I. aybx = 25 

5xy.5xy = 52 

II. xy  = 1  

 

1 

1 

& v I.  

 
II. 0 

 

1 

 

1 

& u I.  

II.  

1 
 

1 

* s I. Area of DEC = ½ x6 x 8 cm2 = 24 cm2  

II. area of the �ABCD  = 48 cm2  

1 

1 

* v I. BDC = 90O - 25O  = 65O 

II. BAC = BDC =  65O
  

1 

1 

* u III.   

IV. (41 - 9) cm = 32 cm   

1 

1 

( s I.  

  

II. PQR=600  

1 

 

1 

( v I.  

II.     Median = 400+70=470  

1 
1 

!)  I.       Total no of cards N(s) = 30  
Let A and B be the events of the number cards divisible 5 and 7 respectively.  
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s A = {5, 10, 15, 20 25, 30}, n(A) =6  
B = {7, 14, 21, 28}, n(B) =4 

II. P (AB) =   

1 
 

1 

!) v I. First draw with probabilities  

II. Second draw with probabilities   

  

1 

1 

;d"x …uÚ 
!! I.     n() = 35000,  no (X) = 18000, no (Y) = 14000,  

   n(XY) = 2000 

II.   n() = no (X)+ no (Y) +  n(XY) + x 

                     = 18000 + 14000 + 2000 + x  

       x  =35000 – 34000 = 1000 

= III . no (X) + no (Y) = 18000 + 14000 = 32000                                                                

N.B.: Give relevant marks for any other correct method. 

1 

1 

 

1 

 

1 

 

!@ 

 

I. Let M.P. of Camera be Rs. x   

SP after discount = (100 - D)% x MP  

                            = (100-15)% x x 

                             = 0.85x 

II. SP including VAT = (100+V)% x SP after discount  

  = (100+15)% x 0.85x  

  = 0.9775x   

III. By the question,  

 

 

1 

 

1 

 

 

P(R)=3/5 

P(Y)=2/5 

P(R)=11/19 

P(W)=8/19 

P(R)=12/19 

P(W)=7/9 

18000 

2000 

14000 

n(U)=35000 
   X  Y 

          x 
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SP including VAT –  SP after discount = 1275  

 0.9775x – 0.85x = 1275 

IV. MP of Camera( x) = Rs. 10,000  

1 
 

 

 

 

1 

!# 
 

I. Let sides of triangular field  = 4x, 5x and 6x  

             P = 4x +5x + 6x  

       Or, 1500m = 15x  

             x = 100m   

II. Sides of triangular field:  

a = 4x = 400m,  b = 5x = 500m,  c = 6x = 600m    

III.   

IV.   

    =  

   = 99215.67 m2 

 

1 

 

1 

1 

 

1 

!$ 

 

I. 1st exp =  m4 + m3 –m2 - m 

 = m(m+1) (m2-1) 

 = m(m+1) (m+1) (m -1) 

II. 2nd exp = m4 –m  

 = m(m3 – 1)  

 = m(m - 1) (m2 + m + 1)   

III. Third exp = 4m2 – 4)  

 = 4(m2 – 1)  

 =4(m+1) (m – 1)  

IV. L.C. F = H.C.F x remaining factors  

 = 4m (m+ 1)2 (m – 1) (m2 + m +1) 

 

1 

 

 

1 

 

 

1 

 
 

1 

!% 
 

I.      Let digit of one's place = x  

      digit of ten's place = y  

        required number = 10y + x   

        In first condition x + y = 6  

II.    In second condition 10y + x – 36 = 10x + y or  y – x =  4 

III.    By solving equation, x = 1,   y = 5  

IV      Required number = 10y + x = 51  

 
 

1 
 

1 
1 
1 
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!^ 

 

I.     Correct figure + given+ 

            To prove : Area (�RMNQ) = Area (�PMNO)  

     Construction: Draw TNMN 

 II.   Ar. (�RMNO)= MN xTN  Area of Parallelogram = b x h …. (i) 

  III.     Ar.(�PMNO) = MN x TN  Area of Parallelogram = b x h ….. (ii) 

IV    Area (�RMNO) = Area (�PMNO)  from (i) and (ii) 

Note: Give full marks for alternative method. 

 

1 

 

1 

1 

1 

!& 

 

I. Construction of rectangle 

II. Construction of angle of   triangle                                                 

III. Construction of triangle                            

IV. Conclusion. 

1 

1 

1 

1 

!* 
 

I. For correct figure 

II. For verification table 

III. For correct conclusion 

1 

1+1 

1 

!( 
 

I. Correct figure and description  

II. In rt.angle AOB                                                     

 tan=   

III. Or tan = 1 = tan 45O 

IV.  = 45O  

1 

 

1 
 

1 
 

1 

 

@) Marks (x) No. of Students (f) c.f 

0-10 

10-20 

20-30 

30-40 

40-50 

3 

7 

10 

x 

3 

3 

10 

20 

20+x 

23+x 

I. Correct c.f. table 

II. Q3 = 32; Q3 class = 30 - 40 

III. 32=  30+  

IV. 11x = 55   

x = 5 

 

 

 

1 

1 

1 

1 

;d"x …3Ú 

6.2 cm 6.2 cm 

5.2 cm
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@! I.  

 = 12500 









1 + 

5
200  2×2 –1   

II.  = Rs. 1297.66 

III. Y.C.I =  

 = 12500  

IV.  = Rs. 1545 
V. Finding difference of C.I. with logical reason. 

 
 

1 

1 
 
 

1 
1 
1 

@@ I. Radius of tank (r) = 3.5 m 
II. Height of cylindrical part (h) = 10.5 m 
III. Volume of tank = Axh +  

= 38.5 x 10.5+  

= 494.08 m3 
IV. Volume of water (V) = 494080 l   
V. Total cost (T) = Rs. 118579.20  

1 

1 
 
 

1 
1 
1 

@# 
I.  

II.  

III.  

IV.  

V.  

1 

 
1 
 

 
1 

 

1 
 

1 

@$ I. Correct fig. with construction 

II. PWZ= ½ XWZ and      QYZ= ½ XYZ 

III. PWZ + QYZ = 90O 

IV. PYZ = PWZ  

V. PYQ = 90O & PQ in the diameter. 

 

1 

1 

1 

1 

1 

 



Symbol No. ....................... RE-109'DC'
SEE 2074 (2018)

clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

gof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmdgof“ kf7\oqmd

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 3G6f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.













RE-109 'DC' 

 

dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

k"0ff{ª\sM– !)) 
ljifoM clgjfo{ ul0ft 

pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . 
k/LIfsn] pTt/sf] z'b\wtf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ 
cg';f/ ;xL, :ki6, pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] 
lgb]{z u/]sf] kl/lw / ;Ldfleq /xL d"Nofª\sg ug'{kg]{ 5 .  

Note: Give the relevant mark(s) for other correct method. 
k|Zg g+= pQ/ c+s 

 ;d"x æsÆ  

! s I.   1 

! v I. T.S.A. of Sq. pyramid = (2ab + a2 ) sq.cm 1 

@ s I. 4   1 

@ v I.   
1 

# s I. PQR=  SQR  1 

# v I. PQT =  PSR   1 

;d"x ævÆ 
$ s I. After devaluation, $ 1 = 115.50  

II. Required dollars ($) = 1500  

1 

1 

$ v I.  

II.   

1 

1 

% s I. 673.75 Litres =r2h     

 

II. r = 35 cm   

 

1 

1 

% v I. 3r2 = 1848cm2 

II. r = 14 cm   

1 

1 
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% u I.  cm3 

 cm3 

II. r = 11 cm 

 

1 

1 

^ s I. 1st Expn = (b2 - b +1)  

2nd Expn =   b (b+1)  (b2 – b +1) 

H.C.F. = b2 - b + 1  

 

1 

1 

^ v I.  

 

II.  

 

1 

1 

& s I. aybx = 16 

4xy.4xy = 42 

II. xy  = 1  

 

1 

1 

& v I.  

 

II.  

 

1 

 

1 

& u I.  

II.  

1 

 

1 

* s I. Area of rectangle PQRS = 48 cm2   

II. area of the PQM = 24 cm2  

1 

1 

* v I. SRM= 90O - 32O  = 58O 

II. MPS = 180O - 58O  = 122O   

1 

1 

* u I.  

II.  

1 

1 
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( s I. I.          

 

II.  

 

1 

1 

( v I.  

II.  

                 = 23  

1 

 

1 

!) s I.    

II. P(Head and 5) =   

1 

1 

!) v I. First draw with probabilities  

II. Second draw with probabilities   

  

1 

1 

;d"x …uÚ 
!! I.      n() = 40000,  no (P) = 20000, no(Q) = 15000, n(PQ) = 3000 

II.     n() = no (P)+ no (Q) + n(PQ) + x 

 = 20000+15000 + 3000 + x 

   

x =   40000 – 38000 = 2000 

                 

III.      = 20000 + 15000 = 35000         

1+1 

 

1 

 

 

1 

 

 

 

 

 

 

20000 

3000 

15000 

n(U)=40000    P  Q 

x 
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N.B.: Give relevant marks for any other correct method. 
!@ 

 

I. Let M.P. of Camera be Rs. x   
SP after discount = (100 - D)% x MP  
                            = (100-20)% x x 
                             = 0.8x 

II. SP including VAT = (100+V)% x SP after discount  
 = (100+15)% x 0.8x  
 = 0.92x   

III. By the question,  
SP including VAT –  SP after discount = 1800  
                0.92x – 0.8x = 1800 

IV. MP of Mobile (x) = Rs. 15,000  

 
 

1 
 

1 
 
 

1 
 
 
 
 

1 

!# 
 

I. Let sides of triangular field  = 5x, 6x and 7x  
           P = 5x +6x + 7x  
Or, 1800m = 18x  
       x = 100m   

II. Sides of triangular field:  
a = 5x = 500m,  b = 6x = 600m,  c = 7x = 700m    

III.   

IV.   

                      =  

  = 146969.39 m2 

 
1 
 

1 
1 

 

1 

!$ 
 

I. 1st exp =  p4 + p3 –p2 - p 
 = p(p+1) (p2-1) 
 = p(p+1) (p+1) (p -1) 

II. 2nd exp = p4 –p  
 = p(p3 – 1)  
 = p(p - 1) (p2 + p + 1)   

III. Third exp = 4p2 – 4  
 = 4(p2 – 1)  
 =4(p+1) (p – 1)  

IV. L.C.M. = H.C.F x remaining factors  
 = 4p (p+ 1)2 (p – 1) (p2 + p +1) 

 
1 
 
 

1 
 
 

1 
 
 

1 

!% 
 

I. Let digit of ten's place = x  
digit of one's place = y  
required number = 10x + y   
In first condition   x + y = 7 

II. In second condition 10x + y -45 = 10y + x  
III. By solving equation, x = 6,   y = 1  
IV. required number = 10x + y = 61  

 
 

1 
1 

 

1 
1 
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!^ 

 

I. correct figure + given 

To prove : Area (PQR) = Area (PQS)  

Construction: Draw PTPQ 

II. Ar. (PQR) = ½  PQ xTP  Area of  = ½ b x h …. (i) 

III. Ar(PQS) = ½ PQ x TP  Area of  = ½ b x h ….. (ii) 

IV. Area (PQR) = ½ Area (PQS)  from (i) and (ii) 

Note: Give marks for alternative method also  

 

1 

 

1 

1 

 

1 

!& 

 

I. Construction of rectangle 

II. Construction of angle of triangle         

III. Construction of triangle,  

IV. conclusion 

1 

1 

1 

1 

 

!* 
 

I. Correct figure  
II. Verification table 
III. Conclusion 

1 
1+1 

1 

!( 
 

I. Correct figure and description  

II. In rt. angled AOB                                                     

 tan=   

III. Or tan = 1 = tan 45O 

IV.      = 45O  

1 

 

1 
 

1 
 

1 

@) Marks (x) No. of Students (f) c.f 
0-30 
30-60 
60-90 

90-120 
120-150 
150-180 

2 
8 

22 
24 
x 
9 

2 
10 
32 
56 

56+x 
65+x 

I.  Correct c.f. table 
II. Q3 = 128; Q3 class = 120-150 

III. 128=  120+  

128-120 =   

IV. 29x = 435  
x = 15 

 
 
 

1 
1 
 
 

1 
1 

;d"x …3Ú 

7.5cm 

6.5cm 
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@! I.  

    = 40000  

II.      = Rs. 8620.25 

III. Y.C.I = ,    

 = 40000  

IV.  = Rs. 12900 
V. Finding difference of C.I. with logical reason. 

Note : Using R = 15%, then score as above by Rs.4279.75 

 
 

1 

1 
 
 

1 
1 
1 

@@ I. Radius of tank (r) = 7 m 
II. Height of cylindrical part (h) = 8 m 
III. Volume of tank = Axh +  

= 154 x 8+  

= 1950.67 m3 
IV. Volume of water (V) = 1950670 liters   
V. Total cost (T) = Rs. 682734.50  

1 

1 
 
 

1 
1 
1 

@# I.  

 

II.  

III.  

IV.  

V.  

 
1 

 
 

1 
 

 
1 

 

1 
 

1 

@$ I. Correct fig. with construction. (P and S are joined and R and M are also  
II. MPS= ½ QPS and      NRS= ½ QRS 
III. MPS + NRS = 90O 
IV. MPS =MRS, hence, MRS + MPS = MRN = 90O 
V. MRN = 90O & MN is the diameter. 

1 
 

1 
1 
1 
1 

 



Symbol No. ....................... RE-109
SEE 2074 (2018)

clgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ftclgjfo{ ul0ft

-k'/fgf] kf7\oqmd_-k'/fgf] kf7\oqmd_-k'/fgf] kf7\oqmd_-k'/fgf] kf7\oqmd_-k'/fgf] kf7\oqmd_

lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .lbOPsf lgb]{zgsf cfwf/df cfkm\g} z}nLdf l;h{gfTds pQ/ lbg'xf];\ .

;doM # 3G6f k"0ff{ª\s – !))

;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .;a} k|Zgx¿sf] pQ/ lbg'xf];\ .
Answer all the questions.

;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ ;d"x ‘s’ (Group 'A') [9x(2+2)=36]
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dfWolds lzIff k/LIff @)&$ (SEE 2018) 
pQ/s'l~hsf (Marking Scheme) 

k"0ff{ª\sM– !)) 
ljifoM clgjfo{ ul0ft 

pTt/k'l:tsf k/LIf0f s'l~hsf pTt/k'l:tsf k/LIf0fsf] lglDt k/LIfsnfO{ ;fdfGo dfu{lgb]{zg xf] . 
k/LIfsn] pTt/sf] z'b\wtf, :t/Lotf, df}lnstf cflb x]/L cfjZostf cg';f/ ljj]s k|of]u u/L :t/ 
cg';f/ ;xL, :ki6, pko'St, dfkgLo / :t/Lo d"Nofª\sg ug'{kg]{ 5 . ;Dej eP;Dd s'l~hsfn] 
lgb]{z u/]sf] kl/lw / ;Ldfleq /xL d"Nofª\sg ug'{kg]{ 5 .  

Note: Give the relevant mark(s) for other correct method. 
k|Zg 
g+= 

pQ/ c+s 

 ;d"x æsÆ  
! s I. ଶ೘(ଶାଵ)

ଶ೘(ସିଵ) 

II. 1 

1 

1 

! v I. √8ܽ଺ܾଽయ  

II. 2ܽଶܾଷ 

1 

1 

@ s I. 4x + 12 = 5x-1 

II. x = 13 

1 

1 

@ v I. Let price of pant = Rs x  

 x + x – 100 = 770   

II. x = Rs.435 & x -100 =  Rs.335   

 

1 

1 

# s I. ܰ =  ଷ଴଴଴
଺଴

 

II. ܰ = 50 

1 

1 

# v I. Position of Q3 = 15th term   

II. Q3 class = 30 - 40   

1 

1 

$ s I. ܲ(ܨ) =   ଷ
ଵଷ

(ܣ)ܲ  ݀݊ܽ    =  ଵ
ଵଷ

 

II. ܲ(ܨ ∪ (ܣ =  ସ
ଵଷ

 

1 

1 
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$ v 

I. 

 

 

 

1+1 

% s I. XYZ = ½ x 8 x 12x√ଷ
ଶ

 

II. XYZ = 24√3 sq.cm 

1 

1 

% v I. Base area = √ଷ
ସ

6ଶ = 9√3cm2 

II. V = 270 cm3   

1 

1 

^ s I. T.S.A =  C×  (r + h ) = 44 x 27   

II. TSA = 1188 cm2   

1 

1 

^ v I. 12 = ଵ
ଷ

×  × 3ଶ × ℎ 

        h = 4 cm  

II. l =√3ଶ + 4ଶ  = 5 cm   

 

1 

1 

& s I. CP = ଻଴଴×ଵ଴଴
ଵ଴଴ିଵଶ.ହ

 

II. CP = Rs. 800 

1 

1 

& v I. PT  = 25000 ቀ1 − ହ
ଵ଴଴

ቁ
ଶ
 

II. PT = Rs. 22562.50   

1 

1 

* s I. AED = ଵ
ଶ

× 10 × 6 = 30 ܿ݉ଶ 1 

1 

H/T

H
H

T

T
H

T

1
2

 

1
2

 

1
2

 

1
2

 

1
2

 

1
2
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II. � ABCD  = 60 cm2  

* v I. QRS = 60O
  

II. QOS = 120O
  

1 

1 

( s I. ABC = 60O
  

II. BAC = 90O - 60O 

=30O 

1 

1 

( v I. A = B = 90O
  

II. P =  60O 

1 

1 

 ;d"x …vÚ  

!) I.  Let  N and  E represent  set of students who like Nepali and English 

respectively. 

  no (N) = 2x and no (E) = x                                         2x     15     x 

II. 2x + 15 + 5 = 50                                                                               5 

x = 10                                                                

III. n(E) =   20 + 5 =25                                                                        

1 

1 

!!  I.          1st Exp. = 3x2 (2x+3y) (2x -3y) 

II. 2nd Exp. = 2x (2x+3y) (4x2 – 6xy +9y2) 

III. 3rd Exp. = 2x (2x+3y) (x –y)   

IV. HCF = x(2x+3y)   

1 

1 

1 

1 

   

!@ 

 

I. (4x)2 – 20 x 4x + 64 = 0   

II. (4x – 16) (4x – 4) = 0  

III. x = 2  

IV.  x = 1   

1 

1 

1 

1 

!# 

 

I.  ௫ା௬ା௫ି௬
(௫ା௬) (௫ି௬)

− ଶ(ଶ௫ି௬ାଶ௫ା௬)
(ଶ௫ା௬)(ଶ௫ି௬)

 

II. ଶ௫
௫మି௬మ

− ଼௫
ସ௫మି௬మ

 

1 

1 

 

N 
(50) 

E 
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III. ଼௫యିଶ௫௬మି଼௫యା଼௫௬మ

(௫మି௬మ)(ସ௫మି௬మ)  

IV. ଺௫௬మ

ସ௫రିହ௫మ௬మା௬ర
 

1 
 

1 

!$ 

 

I.  l+b = 23  

lb = 126  

II. ݈ − ܾ =  √23ଶ − 4 × 126  

III.  l = 14 m 

IV. b = 9 m 

 

1 

1 

1 

1 

!% 

 

I. For correct c.f. table  

II. Md class = 40-60  

III. Md   = 40 + ଵ଴ିହ
ହ

× 20 

IV.  Md = 60 

1 

1 

1 

1 

!^ 
 

I. correct figure + description                                          

II. ଵ
√ଷ

= ஺ா
ଶହ√ଷ

                                                                    A 

III. AE = 25                                                                       E                      C 

IV. Height of tree  = 50 ft.                                             B                      D 

1 

1 

1 

1 

!& 
 

I. Slant height (l) = 25 cm 

II. CSA of cone = 550 cm2 

III. CSA of hemi-sphere = 308 cm2 

IV. TSA = 858 cm2 

1 

1 

1 

1 

!* 
 

I. Slant height (l) = 12 cm  

II. height (h) = 10.9 cm 

III. V = ଵ
ଷ

× 10ଶ × 10.9 

IV. V = 363.33 cm3   

1 

1 

1 

1 

!( 

 

I. A's 1 days work = ଶ
ସହ

 

II. (A+B)'s 1 days work = ଵ
଺

× ଷ
ହ

= ଵ
ଵ଴

 

III. B's 1 days work = ଵ
ଵ଴
− ଶ

ସହ
= ଵ

ଵ଼
 

IV. B can do in 18 days. 

1 
 

1 

1 

1 

   75 ft   

   30O 

   30O 

   25√3ft 
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@) I. Discount amount = 250000 x 15% = Rs.37500 

II. SP = Rs. 212500 

III. VAT amount =  Rs.27625 

IV. SP with VAT = Rs. 240125 

1 

1 

1 

1 

@! I. 400 = ௉×ଶ×ଵ଴
ଵ଴଴

 

II. P = Rs. 2000 

III. CI = 2000[(1 + ଵ଴
ଵ଴଴

)ଶ − 1]  

IV. CI = Rs. 420  

1 

1 

1 

1 

@@ I. For construction MC || NB                                        B            C              A 

II. AMN = ½ �MNBC (with correct reason)  

III. BMN = ½ �MNBC with correct reason                    N                   M 

IV. AMN = BMN  

1 

1 

1 

1 

@# I. For construction  : join AD  

II. D ≡ ଵ
ଶ
෢ܥܣ  

A ≡
1
2
෢ܦܤ  

III. E = D - A  

IV. AEC ≡ ଵ
ଶ

෢ܥܣ) − ෢(ܦܤ   

1 

 

 

1 

1 

1 

@$ I. For correct figures 

II. For correct measurements 

III. For conclusion  

1 

1+1 

1 

@% I. For construction of ABC 

II. For drawing line || to BC  

III. For drawing perpendicular bisector of BC  

IV. For rectangle CDEF  

1 

1 

1 

1 

 

A 
B 

D 

E 

C 
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